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Math 125
Class Exercises for 

Section 6.1 
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To find fractions of numbers or amounts 
Look at these trays of cakes. You buy a fraction of each tray or cakes. Work out how many cakes you buy. To find ½ divide by 2, to find ¼ divide by 4, to find 1/5 divide by 5.
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1.                                                                                    2.  






      ¼  of 16 =       ¾  of 16  =                                ¼ of 8 =       ¾ of 8 = 

3.                                                                 4. 




    1/5  of 10 =        3/5 of 10=                      1/5  of 15 =       4/5 of 15 =
5.                                                                6. 







   1/3  of 9 =         2/3 of 9 =                        1/5  of 20 =      3/5 of 20 = 

7.                                                               8.



  1/3 of 18 =            2/3 of 18 =                         ¼  of 12 =        ¾  of 12 = 
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Fraction Exercises from SDSU

9.        Put these in order, smallest to largest:
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11.       Put these in order, smallest to largest:      
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14.      As a fraction,  1.4 =

     A.  
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          B.  
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      C.  
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       D.  
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   E.  None of A-D

16. The fraction  a/b  is less than 1 whenever, for positive a and b, ...


A.  a < 1
    B.  b < 1
  C.  a < b
D.  b < a
E.  None of A-D

19. Make a drawing that shows 2
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, if the shape below is 1.
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20. What number describes the shaded part of the region?
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C.  
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D.  
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       E.  None of A-D


25.  
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A.  
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B.  8
   C.  
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        D.  
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    E.  None of A-D
46. What calculation would solve this story problem?


"George had 
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of a pie.   He ate 
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 of what he had.   What part of a whole pie did he eat?"

 


A.  
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B. 
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     C.  
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          E.  None of A-D

47. What calculation would solve this story problem?


"She paid $4.80 for 
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pound of candy.  How much does the candy cost, per pound?"


A.  (4.80 ÷ 4) × 4
  B.  4.80 × 
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    C.  4.80 ÷ 
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         D.  4.80 + 0.75         E.  None of A-D
	51. If the hearts shown represent only 2/5 of the chocolate hearts you gave away on Valentine's Day, how many chocolate hearts did you give away in all?
	













A.  8
B.  28

C.  30

D.  50

E.  None of A-D

	52. If the apples shown are ¾ of the apples used for pies, how many apples were used for pies in all?

 


A.  3      B.  9     C.  16      D.  25      E.  None of A-D




	


53. If  ¾  of the apples shown above were red apples, how many of the apples were red?


A.  3             B.  9               C.  16              D.  25            E.  None of A-D


55.  One day Joe's old car used quarts 
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of oil.  The next day it used only 
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as much oil.  How many quarts of oil did the car use on the second day?

 


A.  
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      B.  
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        C. 
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    D.  
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       E.  None of A-D 

 

56. On day 3 the car used 
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1

quarts of oil!  But on day 4 it used only 60%  as much as it did on day 3.  How many quarts of oil did the car use on day 4?


A.  
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1

+ 0.60
B.  
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    C.  
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       D.  
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     E.  None of A-D

 

57. How many 
[image: image61.wmf]3

2

pound portions can be obtained from 30 pounds?


A.  20
B.  45

C.  60

D.  90

E.  None of A-D

 
58. Karen and Sue go bike riding.  Karen biked for  
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 hours, which was  
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 as many hours as Sara biked.   How many hours did Sara bike?

A.  2
B.  2

C.  4

D.  5

E.  None of A-D

 

59. After the family had gone 140 miles, the children asked, "Are we getting close?"  The driver said, "We've gone only 
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 of the way."   How far did the family still have to go?


A.  40 miles      B.  80 miles
      C.  350 mile       D.  490 miles
   E.  None of A-D

Answers, Review Questions for Numbers and Operations 

1.
C   (using  0.75 × 160)

2.
A

3.
B

4. 
D  (using (1/3) × 630 is a better estimate than × 600)

5.
F  ("Percent" means "hundredths," so 0.525% = 0.00525.)

6.
D

7.
A

8.
E

9.


10.
0.0295
0.03
0.1
0.13999

11.





12.
8.5%
110%
    
   1.7
  

13.
0.0239


0.81



14. 
B

15.
A

16.
C

17.
D

18.
C

20.
B

21.
C

22.
C

23.
A

24.
B

25.
B

26.
B

27.
A   ( = )

28.
C

29.
E

30.
B

31.
A

32.
E

33.
C

34.
A

35.
B

36.
D

37.
D

38.
D

39.
C

40.
A

41.
D

42.
One example:  "...  Two-thirds of the orchard had Valencia oranges.  How many acres of Valencia oranges did the farmer have?"  Your story should involve of the 3acres.  Other ideas might revolve around fertilizing part of the orchard, picking part of it,....

43.
One example:  "...The farmer decided to pick all the oranges in one 5-day week.  How many acres per day must the farmer average?"

44.
One example:  "...The farmer could pick the oranges on 0.8 acres a day.  How many days would it take her to pick all the oranges in the orchard?"

45.
C  (This involves the part-of-an-amount kind of multiplication.)

46.
C  (This involves the part-of-an-amount kind of multiplication.)

47. 
C

48.
D

49.
B

50.
B

51.
D   (The display is the , so half of it would be of the hearts given away.)

52.
C   (As in 51, the display is , so of it would be of the total number of apples.)

53.
B   (Notice the difference between 53 and 52.)

54.
D

55.
B   (Again, this problem involves the part-of-an-amount kind of multiplication.)

56.
C

57.
B   ("How many s are in 30" can be answered by division, 30 ÷ .)

58.
D   (Making a drawing is almost essential on such problems.)

59.
C   (Again, making a drawing is helpful.)

60. 
C   (Making a drawing is almost essential on this problem.)

61.
B   (Making a drawing is almost essential on this problem.)

62.
B

63.
C

64.
C

65.
A

66.
D

67.
C
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